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1 Συνάρτηση G

G(a) :=
∫ +∞
0

xa−1e−xdx = 1
a

∫∞
0

xae−xdx+ 1
a [

xa

ex ]
∞
0 = 1

aG(a+ 1).

Επομένως

G(a+ 1) = aG(a), a > 0,

αρκεί να δείξουμε ότι

[
xa

ex
]∞0 = 0.

Παρατηρούμε ότι xa = ealogx, x > 0

΄Αρα limx→0+
ea·logx

ex = 0, γιατί limx→0+ logx = −∞.
΄Εχουμε επίσης

lim
x→+∞

xa

ex
= lim

x→+∞

ea−[a]+1

ex
= lim

x→+∞

x1+δ

ex

= lim
x→+∞

xδ−1

ex
= lim

x→+∞

1

x1+δ

1

ex
= 0.

a = [a] + δ, δ ∈ (0, 1) όπου a είναι το ακέραιο μέρος του a.

Επίσης, G(1) =
∫ 1

0
e−xdx = [−e−x]∞0 = 0 + 1 = 1.
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